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Paper: MINECOI

( Elementary Microeconomics I

F-ull Marks : 60 (8O for 2023 Batch)

Time : 2 hours (3 hours for 2A23 Batch)

The figures in ttLe margin indicate full marks
for the questions

1. Eeefin sxrT< Us{fut^gq t-q{efi qG S'fr.g<t'
1 x6=6

Answer the following questions/Choose the
correct answer :

(a) qcfrsFs Tr{r'rsi ffrcq fr 1qt r
What do you mean by scarcity in
economics?

(b) eqE 6qffi <iBars qcRs'ffi &s<-<t ;rq{ r
Microeconornics does not deal with

(t) {Nfr.s Drfur

aggregate demand
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f,, q$r tqflq{
national Product

fa, ql{Kq {''t g<

general Price level

6ul eTfi ,{bt'e T$
None of the above

(c) qq{ ttcslsFr glT{rslE _- q{ I

The consumer is in equilibrium when

(t)
MUx Px

MUV PY

(tu)

.,, ffi'+
MUx _ Px

MUV PY

(iul rs"K{ qtl\e {$
None of the above

(d) efeqa-{< tR"fl{ ft t
What is substitution effect?

(e) arB+<il mqRcwq{q"{{t\5 tt9<1-{ c<{rsn

Marginal cost curve intersects average

"o"f".r*", 
when average cost curve is

(t) G(rflfr q{

uPward sloPing
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6, fixffi <
downward sloping

[rzl q<fix eI
minimum

/iul a54* *
maximum

A qfs< qfi'sn-\rT sq{ {rc qls qT qfisTsT<

{-q-q 4x-4 q'q

The relationship between profit and
uncertainty, according to the
uncertaint5r theory of Profit, is

(t) sfsiS

direct

f,, R€s{ft
inverse

WF
zero

(fui so1-qq qtl\3 {qn

None of the above

2. sqg ftnTC<T<T ft c+rr+ ffifi< ie"lls uT 6I-$T fr"{T

(etv-eh )co rfqr fu<sl : 4x3=12

Write short notes on any three of the
following (within 15O words each) :

(a) Fqlfl-sr qrs 'tqq
Scarcity and choice

P25145l9 ( Turn Ouer )



l4l

(b) q{ frBql"r<'sl

Price elasticitY

(c) Sqoflqffi T-E{

Production function

(d1 1b bstttl, qv Gq'nq{ qr eTB-s $qoflqaq qrq{

{-"r{
Relation arnong total product, average

product and marginal Product

(e) tl-.rlR.f qls q?F qtr\{RT Els

Normal profit and supernormal profit

sq-{ $*fiT{<twfrrrt (flBeh aoo:5<6qfu5; '

Answer the following questions (within 5OO words

each) :

s. (a) <,ffi qqfr&3 firr{€ qT+ "rRf} qrcElual

fill
Discuss the subject matter and scope of
microeconomlcs.

qw/ or

(b) utfu< n< RBqltru ft t ?lt+ cs-.ffi.{ cqT{T

q{ ? q,{ &fuqrfl+.sm a-rKC<K bqp Gflq{q

qr Fq{q <1T311 r-{l t 2+4+5:11

What is price elasticity of demand? How

can it be measured? Explain its types
with diagrams and suitable examples'
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(b)

(sl

fr<r"m 6<-{< ?EftEryx-e ft ft t fr-<15 c<q6
qqtrg 6qa 3+6pft cs-erh *,l<qrqs GflAE

e? "J6<, <.fq a< r 6+5=11

What are the properties of indifference
curve? Explain how a consumer attains
equilibrium with the help of indifference
curve.

WqN / Or

&-{r{ k-{ 'rRqn-o qm tRqT{ q+ a&+-s-+<

tR"flqs fiqz{ ft-qq{ F{T qr, qft ctp ft-o-<

{q$5 <rc,T T-{I I 11

Explain how price effect of a commodity
is decomposed into income effect and
substitution effect with the help of a
suitable diagram.

10

5. (a) Bqflnq sPe$t{ q?r+{ srE{lTr frfqqs mB-+ qm
qr stB-s <K c{''fl-{ <r<qK q-"l.+ \qrcffD-{

€{Il
Discuss the application of marginal
revenue and marginal cost curve in
determining the equilibrium of a firm.

qffil I Or

(b) fr-cnq rqss 1ll'Fr rdkfit< D6qB<q'+ +.fl I

Explain the profit maximization
conditions in input market.
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6. (a)

(b)

eo-oBn {qr<s qt.$IA{ qr ftffi{ Y-{ qr+

Gq{q'{ mc-{tT fr'ft +qI q{, <]I{fi +<l I

Explain price and output determination

,rrri., monoPolY firm in the short run

and long run'

qsqt / Or

1.f affirqy+ {qr+{ qTqr-{ <1T Grqfitm

A{ofu c{lflq 6<q[ cTrlt$ q<q q<I ql' Fo<

{qEE <It?['l T{ I

Explain with the help of diagram how a

iorg-*. supply curve is derived from a

J""?.""ittg "o"i 
ittat'"try under perfect

comPetition.

s-

A
ea

( qGRs t o ffi< \oqe T({ Erq-Erfu <tc:r )

( Additionil20 marks for 2023 Batch I

7. is-trt fr c+nqt ffif afq Gs< fu : 5x4

Answer any four questions from the

following :

(a) G'rrcter< EEs Flr 6l-6E ? Cqqq 1wR fr"<t t

What do You mean bY consumer's

surPlus? ExPlain with the helP of a
diagram'
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(b) E-{r< k-fi flffi <d c<qr 6s-HtT e6rs{
$r{ ? qz-qTtr.{ G-<'-

How does budger line shift as a result of
prices change? Discuss.

(c) >l:l-{iTaTlT crs C<n1 6ET Tqn\r- q-CqID-{I

T<II I

What is iso-cosr line? Discuss with the
help of diagram.

(d) R?Tlffi <lT CRlTrTq qir-{ +-{T I

Draw short-run cost curves.

(e) {.f effiru, qe <qi<< ?<fi?HTq frqt r

Write down the characteristics of perfect
competition.

***
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